——
Ilﬁ\\\

OBC Oskoyi Ballbearing

Oskoyi Ballbearing Company

3.1 FlexxPump 125 B

v automatical, battery-driven relubrication unit

v Single- or mulitple-gates lubrication-points

v tightly arranged piston-pump (1 pumpbody)

v Greases up to NLGI 2 (also solid particels)

v 1outlet G1/4(0) and M6(i)

 Up to 10 lubrication-points by using distributors
 bressure max. 12/ 35 bar (switchable)

v 125 cc grease in cartridge

v low weigth; running time and quantity per cycle adjustable

v suitable for single or combinend relubrication of:
+ (rolling-) bearings
+ linear guidance
+ ball screw nuts
+ racks & pinions
+ rotary joints
..

FlexxPump 125 B: autarker, batteriebetriebener Nachschmiergeber fiir
Fett; 125 cm? Kartusche aufgesetzt; (abgebildet: 135-125-000 mit Kartusche
125)

Montage v. Unterseite —

installafion botfom side \E
123

Typenschild
type label

Al
)
Montage v. Rickseite = go
/" installation rear side
88

M5 (2x) 96
Dra<3Nm

155 Batteriefach
™ battery box

G1/4

283

Magnetstift
magnefic-pen

D site : www.10BC.com
R4 Email : Borhan772000@yahoo.com




(oo ] il o

(j;ngb o QS.mI)

3.1

FlexxPump 125 B

Oskoyi Ballbearing Company

Technische Daten

Dimensions with cartridge 125
Weight (without lubricant)
Function / principle

Volume of |ubricant

Delivered volume per stroke/pulse

Number of pump hubs / cartridge 125 cc
Maximal pressure

Operating pressure

Lubricant

Operating temperature
Number of outlet

Thread of outlet

Number of lubrication points
Lube-connection

Operating voltage
Connecting plug

Installation
Installation position
Control

Pressure monitoring
Fill level monitoring
Display
Running-time
Quantity per cycle
Error-signal
Filling-function

IP class

Material housing

Types of FlexxPump 125 B

135-125-000
135-125-010

integrated

adjustable
adjustable
optical

Technical data

83x152x 83 [mm]BxHx T |WxHxD [mm]
ca. 0.35 kg | apx. 0.35 kg

Kolbenpumpe |Piston pump

125 cm? (in Kartusche) | 125 cc (in cartridge)
0.15cm*|0.15 cc

ca. 830 |apx. 830

12/ 35 bar (umschaltbar | switchable)

max. 25 bar |up to 25 bar

bis NLGI 2, mit Feststoffanteilen méglich |

up to NLGI 2, with solid parts possible

-20°C...+70°C | -4°F...+158°F

1

G1/4*(a) und M6(j) | G1/4“(0) and M6(i)

max. 4*/ 10** |up to 4*/ 10**

direkt oder tiber zus. Schlauchanschluss an PA-Schlauch | Direct or with PA-tube
)4,5V DC (Batterie | Battery

keiner [none

M12x1, 4-polig | M12x1, 4pole

Riickseite M5(i) (2x) oder Unterseite M5(i) mit G1/4“(a) oder DLS Systemzubehdr |
Rear side M5(i) (2x) or bottom side M5(i) with G1/4“(0) or DLS accessories
beliebig | any

mikroelektronisch | microelectronic

integriert, elektronisch | integrated, electronic

integriert, elektronisch | integrated, electronic

LCD |LCD

1/2/..124 Monate | 1/2/.../ 24 months

0.15/0.30/.../1.50 cm*®| 0.15/0.30 / .../ 1.50 cc

auf LCD |at LCD

vorhanden |available

IP 54 |IP 54

PA 6.6 GF 30/ POM |PA 6.6 GF 30 / POM

U Anzahl Pzl M12x1
Variante Schmierstoff Flexx- . Doppelpum- | Anzahl Schmierstellen*/** Artikel-Nr.
Auslasse e Stecker
Pump penkdrper
Type Number of C
Variants Lubricant Flexx- Niil? twin-pump- Numbero_f Iusiif:atlon Rl Part-No.
of outlets . points plug
Pump bodies
Battery 125B 1 1 max. 4/10 - 135-125-000
- Grease
time-controlled 125 B 1 1 max. 4/10 ++ 135-125-010
* bei der Verwendung von Mengenteilern/Splittern: max. 4 | by using splitters: max. 4
** bei Verwendung von Progressivverteilern | by using progressive-distributors.

Accessories for FlexxPump 125

On demand: FlexxPump 125 B with lubricant as ready-to-install available.

coals o

(021) 33913364 - 33951660

(021) 33985603




/

=~
Ilﬁ\\\

OBC Oskoyi Ballbearing

Oskoyi Ballbearing Company

3.2 FlexxPump 125

v automatical relubrication unit for 24V DC

v’ Single- or mulitple-gates lubrication-points

v tightly arranged piston-pump (1 pumpbody)

v Greases up to NLGI 2 (also solid particels)

v 1 outlet G1/4(0) and M6(i)

v up to 14 lubrication-points by using distributors
v pressure max. 12/ 50 bar (switchable)

v 125 cc /250 cc grease in cartridge
v low weigth; running time and quantity per cycle adjustable

v/ suitable for single or combinend relubrication of:
+ (rolling-) bearings
+ linear guidance
+ ball screw nuts
+ racks & pinions
+ rotary joints

L
FlexxPump 125: 24V DC-betriebener Nachschmiergeber fiir Fett; 125
bzw. 250 cm® Kartusche aufgesetzt; (abgebildet: 135-125-210 mit Kartusche
125 bzw. 250)
‘ 85
o n| Mo:\aﬁ v L;nﬁrsened -
f )

Typenschild
type Label

G1/4

Montage v. Rickseite
/ installation rear side

283

Vo)
>

Magnetstift
magnetic-pen

M5 (2x)
Drar<3Nm

D site : www.10BC.com
R4 Email : Borhan772000@yahoo.com




Oskoyi Ballbearing Company

3.2 FlexxPump 125

Technische Daten

Dimensions with cartridge 125 83x152x83 [mm]BxHXT|WxHxD [mm]
Weight (without lubricant) ca. 0.35kg | apx. 0.35 kg

Function / principle Kolbenpumpe |piston pump

Volume of lubricant 125 cm?® (in Kartusche) | 125 cc(in cartridge)

250 cm? (in Kartusche) | 250 cc (in cartridge)
0.15cm®|0.15 cc

Delivered volume per stroke / pulse
ca. 830/ 1666 | apx. 830 / 1666

Number of pump hubs / cartridge 125 cc / 250 cc

Maximal pressure 12 /50 bar (umschaltbar | switchable)
Lubricant bis NLGI 2, mit Feststoffanteilen moglich |
up to NLGI 2, with solid parts possible
Operating temperature -20°C...+70°C | -4°F...+158°F
Number of outlet 1
Thread of outlet G1/4“(a) und M6(i) | G1/4“(0) and M6(i)
Number of lubrication points max. 4%/ 14** |up to 4* | 14**
Lube-connection direkt oder tiber zus. Schlauchanschluss an PA-Schlauch | direct or with PA-tube
Operating voltage 24V DC
Connecting plug M12x1, 4-polig | M12x1, 4pole
Riickseite M5(i) (2x) oder Unterseite M5(i) mit G1/4(a) oder DLS Systemzubehor |

Installation Rear side M5(i) (2x) or bottom side M5(i) with G1/4“(0) or DLS accessories
Installation position beliebig | any
Control intern mikroelektronisch | microelectronic

135-125-210 SPS|PLC
Pressure monitoring integriert, elektronisch | integrated, electronic
Fill level monitoring integriert, elektronisch | integrated, electronic
Display LCD |LCD
Running-time 135-125-100 1/2/...124 Monate | 1/2/.../ 24 months
Quantity per cycle 0.15/0.30/.../1.50 cm*| 0.15/0.30 /... / 1.50 cc
Error-signal optisch | optical auf LCD |at LCD

Steuerung | Control SPS |PLC
Reset after Error-signal 135-125-210 SPS |PLC
Filling-function vorhanden | available
IP class IP 54 |IP 54
Material housing PA 6.6 GF 30/ POM | PA 6.6 GF 30 / POM

Types of FlexxPump 125

VP | Anzan | Anzahl M12x1
Variante Schmierstoff Flexx- M Doppelpum- | Anzahl Schmierstellen*/** Artikel-Nr.
P Auslasse e Stecker
ump penkorper
Type Number of s
Variants Lubricant Flexx- o twin-pump- Numberqf Iusiicatlon SR Part-No.
of outlets . points plug
Pump bodies
Ll s 3g5g0 ﬁzrﬁZ_CDoCntm”e g 125 1 1 max. 4/14 ++ | 135-125-100
e Grease
5 1w < 135-125-21
e & jguo oy pulse-controlled 125 DLS 1 1 max. 4/14 ++ 35-125-210
* bei der Verwendung von Mengenteilern/Splittern: max. 4 | by using splitters: up to 4
** bei Verwendung von Progressivverteilern | by using progressive-distributors.

On demand: FlexxPump 125/ 125 DLS with lubricant as ready-to-install available.

(021) 33913364 - 33951660 : wsli ¢
(021) 33985603 : uuSS PR




——
Ilﬁ\\\

OBC Oskoyi Ballbearing

Oskoyi Ballbearing Company

3.3 FlexxPump 400 B/ 500 B

v automatical , time-control | ed rel ubrication unit

v easy programmabl e by LCD-Displ ay (incl . error-monitoring)
v piston-pump (1 pumpbody)

v Greases up to NLGI 3 (al so sol id particel s)

v 1-2 outl ets; up to 8 | ubrication points */**

v running time and quantity per time-unit programmabl e

v pressure: max. 70 bar

v~ 400cc grease in cartridge

v | ow weigth and | ong | ifetime of battery

v suitabl e for autarkic rel ubrication of:
+(rol | ing-) bearings
+ | inear guidance
+bal | screw nuts
+ racks & pinions

+ rotary joints
+..

FlexxPump 401 B: autarker, zeitgesteuerter Nachschmiergeber Fett; fiir
400 cm? Kartusche; Gehause-Abdeckung (grau); ohne M12x1-Stecker; fiir
3V Batteriebetrieb; (abgebil det: 135-140-000)

<
0|
o
—1 K/\‘ —)
6.6(2k
N L <
& R g z
™ —
" Schlauchanschluss 64
m| tube connection 6
96 | 30
107 88

m | 94

12

D site : www.10BC.com
R4 Email : Borhan772000@yahoo.com




Oskoyi Ballbearing Company

3.3 FlexxPump 400 B/ 500 B

Technische Daten

Dimensions 112x 196 x 94 [mm]BxHx T|WxHxD
Weight (without lubricant) ca. 1,1 kg
Function/principle Kolbenpumpe | piston pump
Grease 400 cm? (in Kartusche | 400 cc in cartridge)
Volume of lubricant Qil 500 cm® (direkt eigefilllt | directly filled in)
outlet 0,15 cm?®- Typen: 401 B/ 501 B | types: 401 B/ 501 B
Delivered volume per stroke outlets 0,15 cm?® - Typen: 402 B / 502 B | types: 402 B/ 502 B
ca. 2700 |apx. 2700
Number of pump hubs / cartridge 400 cc
Operation pressure max. 70 bar | up to 70 bar
Lubricant bis NLGI Klasse 3, mit Feststoffanteilen méglich |
Oil or Grease up to NLGI 3, with solid parts possible
Operating temperature -25°C...+70°C
Number of outlets max. 2 rechtwinklig und drehbar | right-angeld and turnable
Number of lubrication points max. 4/8 */** |up to 4/8 */+*
Lube-connection PA-Schlauch | PA-tube
Operating voltage 3vDC
Installation position Grease beliebig | any
Qil senkrecht | upright
Control integrated mikroelektronisch | microelectronic
Running-time 1/2/..136 Monate | 1/2/... 36 months
Quantity per cycle 0,15/0,30/.../4,50 cm*| 0.15/0.30 / ... .4.50 cc
Pressure monitoring integriert, elektronisch | integrated, electronic
Fill level monitoring integriert, Reedkontakt | integrated, reed contact
Error-signal optical LCD
Material housing Zink, Polyamid | Zinc, polyamide
Types of FlexxPump 400 B/ 500 B
T Anzahl Lo .
variante | Fett/ 01 | Fiene | A28 | Sonmier. | Unterschiediche Ausflihrung M12x1 IP-Klasse Artikel-Nr.
Pump Auslasse stellen*** Schmiermeng en | Gehauseabdeckung Stecker
number s .
. Grease (e number of lubri- comblnatlon' 1.:1|f- model M12x1 I7eeg) ree gl
Variants 1 Oil Flexx- of outlets cation ferent qyantltles housing cover u protection of Part-No.
Pump o lubricant 9 plug enclosure
points*/
grey - 54 135-140-000
metal - 67 135-140-001
401 B 1 max. 4 1
3 o grey ++ 54 135-140-010
B 8 metal ++ 67 135-140-011
> § o grey - 54 135-240-000
52 metal - 67 135-240-001
Q= 402 B 2 max. 8 1
grey ++ 54 135-240-010
metal ++ 67 135-240-011
* by using splitters
** more lubrication-points by using prog ressive-distributors.

On demand: FlexxPump 400 B with lubricant as ready-to-install available.

(021) 33913364 - 33951660 : wili ¢J

(021) 33985603 : uuSS PR




——
Ilﬁ\\\

OBC Oskoyi Ballbearing

Oskoyi Ballbearing Company

3.4 FlexxPump 400/ 500

v automatical, time-controlled relubrication unit

v easy programmable by LCD-Display (incl. error-monitoring)
v Piston-pump (1 pumpbodie)
v~ Greases and oil up to NLGI 3 (also solid particels)
v 1-2 outlets; up to 8 lubrication points ~ */**
v" Running time and quantity per time-unit programmable
v Pressure: up to 70 bar
v 400cc grease in cartridge (500ml oil)
v~ Low weigth and low current-cumsumption
v suitable for relubrication of:
+ (ball-) bearings
+ linear blocks
+ ball screw nuts
+ racks & pinions

+ rotary joints
+..

FlexxPump 401 zeitgesteuerter 24V DC Nachschmiergeber Fett; fur
400 cm? Kartusche; Metall Gehduse-Abdeckung; (abgebildet: 135-140-101)

A

196

6 6(2k

f
i

T
M12%
N

Schlauchanschluss 6
fube connection 6%

335

96 30

107 88

m 94

12

D site : www.10BC.com
R4 Email : Borhan772000@yahoo.com




Oskoyi Ballbearing Company

3.4 FlexxPump 400/ 500

Technische Daten

Dimensions 112x196 x 94 [mm]BxHxT|WxHxD
Weight (without lubricant) ca. 1,1kg
Function/principle Kolbenpumpe |Piston pump
Grease 400 cm? (in Kartusche | 400 cc in cartridge)
Volume of lubricant Qil 500 cm?* (direkt eigefilllt | 500cc directly filled in)
outlet 0,15 cm® - Typen: 401/501 | 0.15 cc types: 401/501
Delivered volume per stroke outlets 0,15 cm® - Typen: 402/502 | 0.15 cc types: 402/502

ca. 2700 |apx. 2700
Number of pump hubs / cartridge 400 cc

Operation pressure max. 70 bar |up to 70 bar
Lubricant bis NLGI Klasse 3, Feststoffanteile moglich |
Oil or Grease up to NLGI 3, solid parts possible
Operating temperature -25°C...+70°C
Number of outlets max. 2 rechtwinklig und drehbar | right-angeld and turnable
Number of lubrication points max. 4/8 */** | up to 4/8 */**
Lube-connection PA-Schlauch | PA-tube
Operating voltage 24V DC (iiber Kabel |via cable)
Connecting plug M12 x 1, 4-polig | M12 x 1, 4-pin
Current consumption at 24V DC lmax S 350 A
Installation position Grease beliebig | any
Oil senkrecht | upright
Control integrated mikroelektronisch | microelectronic
Running-time 1/2/..136 Monate | 1/2/... 36 months
Quantity per cycle 0,15/0,30/.../4,50 cm*|0.15/0.30/ ... .4.50 cc
Pressure monitoring integriert, elektronisch | integrated, electronic
Fill level monitoring integriert, Reedkontakt | integrated, reed contact
Error-signal Fehlermeldung
PLC Error-signal
LCD; optional: Winkelstecker mit LED-Anzeigen (134-002-014 / -015)
optical LCD; optional: LED-Connector 90° (134-002-014 / -015)
Material housing Zink, Polyamid | Zinc, polyamide

Types of FlexxPump 400 / 500

Typ Anzahl s .
Variante | Fett/ Ol | Flexx- | A28 | gchmier. | Unterschiedliche Ausfiihrung M12x1 IP-Klasse Artikel-Nr.
Auslasse x| SChmiermengen Gehauseabdeckung Stecker
Pump stellen*’
number . .
. Grease [ number of lubri- comblnatlon. c.hf- model L degree @
Variants ) Flexx- . ferent quantities . M12x1 plug | protection of Part-No.
/ Oil P of outlets cation . housingcover
ump e lubricant enclosure
points
3 PA grey ++ 54 135-140-100
5 ° 401 1 max. 4 1
o £ a metal ++ 67 135-140-101
Q
oo & PA grey ++ 54 135-240-100
3 e 402 2 max. 8 1
NS metal ++ 67 135-240-101
* by using splitters
** more lubrication-points by using progressive-distributors.

On demand: FlexxPump 400 with lubricant as ready-to-install available.

(021) 33913364 - 33951660 : wili ¢J

(021) 33985603 : uuSS PR




OB (‘3 Oskoyi Ballbearing

Oskoyi Ballbearing Company

FlexxMaster M12x1
24V DC
SPS | PLC
T
M8x1 - M12x1 E
FlexxMaster - FlexxPump 400 & 500 FM i
)
Description:
FlexxMaster; external control unit for
up to 4 FlexxPump 400 FM / 500 FM;
external power-supply 24V DC needed;
FlexxPump 1 FlexxMaster works with FlexxPump 400
2B 401FM & 500 FM only; adjustments for each
FlexxPump 400 & 500 FM seperately;
each FlexxPump 400 & 500 FM can
FlexxPump 2 provide single lubricant
zB 404 FM
FlexxPump 3
zB 403 FM
FlexxPump &
zB. 502 FM
Types of FlexxPump 400 / 500 FM
Anzah| Anzah| | Unterschiedlk -
Variante | Fett/ Ol o Az Anz“ahl Doppelpum- | Schmier- | che Sch mier DlaE e ung SRRUETTE Artikel-Nr.
Pump Auslasse " ey via...
penkaorper | stellen* mengen
T Number Combinati-
Vet || SRS || N ADEE | | il twin-pump- @S |- eI ChiEel Controlling & monitoring by ... Part-No.
/ Oil Pump of outlets . cation quantities
bodies T .
points*/ lubricant
FlexxMaster -- - - -- - 135-000-200
= 401 FM 1 1 max. 4 - FlexxMaster 135-140-200
% o 402 FM 2 1 max. 8 -- FlexxMaster 135-240-200
2]
% g 422 FM 2 (1+1) 2 max. 8 ++ (1/1) FlexxMaster 135-240-202
x
f © 403 FM 3(1+2) 2 max. 12 ++ (2/1) FlexxMaster 135-340-200
404 FM 4 (2+2) 2 max. 16 ++ (2/2) FlexxMaster 135-440-200
* by using splitters
** more lubrication-points by using progressive-distributors.

D site : www.10BC.com

R4 Email : Borhan772000@yahoo.com




Oskoyi Ballbearing Company

3.5 FlexxPump 400 FM /500 FM (FlexxMaster)

130

Description:
Control unit FlexxMaster; connection to

= A m power supply / PLC by 4-pole connection
_I @ @ @ @ @ [_ oA with M12x1-plug; from FlexxMaster to
FlexxPump 400 / 500 FM 4-pole connec-
MB% A—polig- tion M8x1 (FlexxMaster) and M12x1
66 (2x) 96 17 FleMaster - FleRump 400 / 500 FM (FlexxPump 400 & 500 FM)

%) &
O O

HO®

M12% 4 -polig
O Q SPS - FleMaster
oYy E‘ WYy o=

138
145

Cable for FlexxMaster

Anzahl Pole i Anwendung Artikel-Nr.

Number of wires Application Part-No.

M12x1 M8x1 5000 134-002-008

4 FlexxMaster - FlexxPump 400 / 500 FM

M12x1 M8x1 10000 134-002-009

M12x1 5000 134-002-003

M12x1 10000 134-002-007
M12x1 15000

offen | 4 PLC

M12x1 20000 on demand
M12x1 30000

M12x1 50000 134-002-013

<SRN

196

6 6(2k

r
I
M12%
N

Schlauchanschluss 6%
fube connection 6%

335

96 30

107 88

m 9k

12

(021) 33913364 - 33951660 : wsli ¢
(021) 33985603 : uuSS PR




/

=~
Ilﬁ\\\

OBC Oskoyi Ballbearing

Oskoyi Ballbearing Company

3.6 FlexxPump 400 DLS /500 DLS

v automatical, puls-driven relubrication unit
v direct controlled by PLC (incl. error-monitoring)
v’ Piston-pump (1-2 pumpbodies)
v Greases and oil up to NLGI 3 (also solid particels)
v 1-4 outlets; max. 16 lubrication points */**
v different times and/or quantities of lubricant
v Pressure: up to 70 bar
v 400cc grease in cartridge
v~ Low weigth and minimal current consumption
v Suitable for combinend relubrication of:
+ (rolling-) bearings
+ linear guidance
+ ball screw nuts
+ racks & pinions

+ rotary joints
+..

FlexxPump 400 DLS: impulsgesteuerter Nachschmiergeber fiir bis zu
16 Schmierstellen; 400 cm?® Kartusche; 24 VDC (abgebildet: Typ 404 DLS)

A

196

—
6.6(2k
\ ¢
e NG = 7
— | ==
A T.T Schlauchanschluss 6
m tube connection 6%
96 | 30
107 88
m | 94
12

D site : www.10BC.com
R4 Email : Borhan772000@yahoo.com




Oskoyi Ballbearing Company

3.6 FlexxPump 400 DLS /500 DLS

Technische Daten

Dimensions 112x196 x 94 [mm]BXHXT|WxHxD
Weight (without lubricant) ca. 1,1kg
Function/principle Kolbenpumpe | piston pump

Grease 400 cm?® (in Kartusche | 400 ccin cartridge)
Volume of lubricant Qil 500 cm® (direkt eigefillt | directly filled in)

outlet 0,15 cm® - Typen: 401/501 | types: 401/501

Delivered volume per stroke / pulse outlets 0,15 cm? - Typen: 402/422/502/522 | types: 402/422/502/522
outlets 0,15 cm® - Typen: 403/503 | types: 403/503
outlets 0,15 cm? - Typen: 404/504 | types: 404/504
ca. 2700 |apx. 2700
Number of pump hubs / cartridge 400 cc
Operation pressure max. 70 bar |up to 70 bar
Lubricant bis NLGI Klasse 3, mit Feststoffanteilen mdglich |
Qil or Grease up to NLGI 3, with solid parts possible
Operating temperature -25°C...+70°C
Number of outlets max. 4 rechtwinklig und drehbar | right-angeld and turnable
Number of lubrication points max. 16 *** |up to 16 * /**
Lube-connection PA-Schlauch | PA-tube
Operating voltage 24V DC (uber Kabel | via cable)
Connecting plug M12 x 1, 4-polig | M12 x 1, 4-pin
Current consumption at 24V DC | ax < 350 MA
Installation position Grease beliebig | any
Qil senkrecht | upright
Control integrated mikroelektronisch | microelectronic
external SPS |PLC

Pressure monitoring
Fill level monitoring

integriert, elektronisch | integrated, electronic
integriert, Reedkontakt | integrated, reed contact

Error-signal differenziert: Leerstand/Gegendruck/interner Fehler |
PLC sophisticated: cartridge empty / backpressure / internal error
optional: Winkelstecker mit LED-Anzeigen (134-002-014 /-015)
optical optional: LED-Connector 90° (134-002-014 /-015)
IP class IP 65

Material housing Zink, Polyamid | Zinc, polyamide

Types of FlexxPump 400 DLS / 500 DLS

Tvp Flexx- Anzahl Anzahl Anzahl | Unterschiedli- | Uberwachung B .
Variante | Fett/ Ol P M Doppelpum- | Schmier- | che Schmier- | & Steuerung Artikel-Nr.
Pump Auslasse " e i’ FlexxPump
penkoérper | stellen meng en via...
NTTERET || ety | | (Cleellzli Controllin
. Grease | Type Flexx- | Number . of lubri- on different ofing Firmware
Variants . twin-pump- ) s & monitoring Part-No.
/ QOil Pump of outlets . cation quantities FlexxPump
bodies e . by ...
points lubricant
3 401 DLS 1 1 max. 4 -- PLC D2 135-140-210
S ® 402 DLS 2 1 max. 8 -- PLC D2 135-240-210
= (2]
§ @ 422 DLS 2 (1+1) 2 max. 8 ++ (1/1) PLC D2 135-240-212
2 © 403 DLS 3 (1+2) 2 max. 12 ++(2/1) PLC D2 135-340-210
>
e 404 DLS 4 (2+2) 2 max. 16 ++(2/2) PLC D2 135-440-210
* by using splitters
** more lubrication-points by using prog ressive-distributors.

On demand: FlexxPump 400 DLS with lubricant as ready-to-install available.

coals o

(021) 33913364 - 33951660

(021) 33985603




/

=~
Ilﬁ\\\

OBC Oskoyi Ballbearing

Oskoyi Ballbearing Company

3.7 FlexxPump 1500 DLS /2000 DLS

v time-controlled or puls-driven relubrication unit
v direct controlled by PLC (incl. error-monitoring)
v piston-pump (1-5 pumpbodies)

v Greases or oil up to NLGI 3 (also solid particels)

v 2-10 outlets
v different times and/or quantities of lubricant
v pressure: max. 70 bar
v~ 1500cc grease in bellow/pouch
v low weigth and minimal current consumption
v suitable for combinend relubrication of:

+ (rolling-) bearings

+ linear guidance

+ ball screw nuts

+ racks & pinions

+ rotary joints
+..

FlexxPump 1500: automatischer Nachschmiergeber; fiir 1500 cm®
Fett-Faltenbalg; 24 VDC (abgebildet: Typ 1510)

D site : www.10BC.com Q
R4 Email : Borhan772000@yahoo.com




Oskoyi Ballbearing Company

3.7 FlexxPump 1500 DLS / 2000 DLS

Technische Daten

Dimensions 162 x 255 x 165 [mm] BxHx T|W xHx D
Weight (without lubricant) ca. 4 kg
Function / Principle Kolbenpumpe |Piston pump
Grease 1500 cm?® (im Faltenbalg) | 1500 cc)(in bellow
Volume of lubricant Qil 2000 ml (direkt eingefilllt) | 2000 ml (directly filled-in)
outlets 0,15 cm® - Typen: 1502/2002 | types: 1502/2002
Delivered volume per stroke / pulse outlets 0,15 cm® - Typen: 1504/2004 | types: 1504/2004
outlets 0,15 cm® - Typen: 1506/2006 | types: 1506/2006
outlets 0,15 cm® - Typen: 1508/2008 | types: 1508/2008
outlets 0,15 cm® - Typen: 1510/2010 | types: 1510/2010
~ 10000
Number of pump hubs / bellow 1500 cm?
Operation pressure max. 70 bar |up to 70 bar
bis NLGI 2, mit Feststoffanteilen mdglich |
Lubricant QOil or Grease up to NLGI 2, with solid parts possible
Operating temperature -20°C...+70°C
Number of outlets max. 10 gerade | straigth
Number of lubrication points max. 40 */**
Lube-connection PA-Schlauch, T=6x4 | PA-tube, t=6x4
Operating voltage 24V DC (uber Kabel |via cable)
Connecting plug M12 x 1, 4-polig | M12 x 1, 4-pin
Current consumption at 24V DC Inax S 350 mA
Installation position Grease beliebig | any
Qil senkrecht | upright
Control integrated mikroelektronisch | microelectronic

Pressure monitoring
Fill level monitoring

internal / external

intern: Zeitsteuerung; extern: SPS |
internal: time-controlled; external: PLC

integriert, elektronisch | integrated, electronic
integriert, Reedkontakt | integrated, reed contact

Error-signal differenziert: Leerstand/Gegendruck/interner Fehler |
PLC sophisticated: bellow empty/backpressure/internal error
optical LCD-Display | LCD-display

IP class IP 54

Material housing

Aluminium, Polyamid | aluminium, polyamide

Types of FlexxPump 1500 DLS / 2000 DLS

Typ P —— Anzahl Anzahl unterschiedli- BermEsnm S
Variante | Fett/ Ol Flexx- » Doppelpum- | Schmier- | che Schmier- . 9 . 9 Artikel-Nr.
Auslasse " Py via... via ...
Pump penkorper | stellen*’ meng en
Tvpe Number of Number Combinati-
. Grease P Number . of lubri- on different Monitoring Controlled
Variants . Flexx- twin-pump- . o Part-No.
/ Oil of outlets . cation quantities by ... by ...
Pump bodies P .
points lubricant
3o 1502 2 1 max. 8 1 PLC PLC 540-202-100
= 0
£% o 1504 4 2 max. 16 2 PLC PLC 540-404-200
<=}
$ § § 1506 6 3 max. 24 3 PLC PLC 540-606-300
% g o 1508 8 4 max. 32 4 PLC PLC 540-808-400
&= 1510 10 5 max. 40 5 PLC PLC 541-010-500
Merging outlets with Y-tube-connector 134-002-000!
* by using splitters
** more lubrication-points by using prog ressive-distributors.

coals o

(021) 33913364 - 33951660

(021) 33985603




Oskoyi Ballbearing Company

Oskoyi Ballbearing

(el SLj G 9 Glol oy jl oliold 6S ol lSo (51 2) 395w §IS Guz jS s

140 #0.8 . 5.1
111

Gv8”

67 +0.8

Relubrication Unit MicroMax 120
Part-No. Description
135-121-006 with grease FO1 ; runing time 6 months
135-121-009 with grease FO1 ; runing time 9 months
135-121-012 with grease FO1 ; runing time 12 months
135-121-018 with grease FO1 ; runing time 18 months
135-121-024 with grease FO1 ; runing time 24 months
135-121-036 with grease FO1 ; runing time 36 months
Relubrication Unit MicroMax 120 External
Part-No. Description
135-121-106 with grease FO1 ; runing time 6 months
135-121-109 with grease FO1 ; runing time 9 months
135-121-112 with grease FO1 ; runing time 12 months
135-121-118 with grease FO1 ; runing time 18 months
135-121-124 with grease FO1 ; runing time 24 months
135-121-136 with grease FO1 ; runing time 36 months
Relubrication Unit MicroMax 120
Part-No. Description
135-122-006 with grease FO2 ; runing time 6 months
135-122-009 with grease FO2 ; runing time 9 months
135-122-012 with grease FO2 ; runing time 12 months
135-122-018 with grease FO2 ; runing time 18 months
135-122-024 with grease FO2 ; runing time 24 months
135-122-036 with grease FO2 ; runing time 36 months
Relubrication Unit MicroMax 120 External
Part-No. Description
135-122-106 with grease FO2 ; runing time 6 months
135-122-109 with grease FO2 ; runing time 9 months
135-122-112 with grease FO2 ; runing time 12 months
135-122-118 with grease FO2 ; runing time 18 months
135-122-124 with grease FO2 ; runing time 24 months
135-122-136 with grease FO2 ; runing time 36 months

D site : www.10BC.com

R4 Email : Borhan772000@yahoo.com




	Page 109
	Page 110
	Page 111
	Page 112
	Page 113
	Page 114
	Page 115
	Page 116
	Page 117
	Page 118
	Page 119
	Page 120
	Page 121
	Page 122
	Page 123

